. i 8. Label the p}\ﬁgs and pha\éfchanges on the graph
- hi e n : in both energy flow directions.
?_5 90 L 9. Which phase changes are endothermig?
- £ g ab At e N anas MQHMﬁ Bisare e
g 60 EEEENEN L AT T [AEREE
& 7 == ¥3 : 10. What is happening to the kinetic and potential
45428 : i3 energy of the particles during these pl phase changes?
ui K)AQJIL 'S Cef\SJa/\J-
retmries) Nenl Ehzrsy Paledtal iS ,qC(Qq_s}nl
)() Y (NP, > l2m P‘Qm NS 11. V)g_h;ch phase‘: changes are gxothermic? .
*&2ing,Con JenSation
12. Explain why the melting point and freezing point of a substance can be the same.
%Q.Cowus& 3
o leavhg  Lhe Syslem
f‘#;;\m AT -Cln..l T = iathialT

5. Describe how the law of conservation of energy is supported by the scenario in 2a above.

Heal eneryy enlsred Hhe ice Cube. TFlus cauwSed i1 do rme 4,

I can identify the difference between kinetic & potential energy in terms of particle arrangement and motion. —

6. What is the difference between kinetic and potential energy?
Km@.\,lC = mo\fem?/\-‘r of aon oijC‘— &= ?qurc(eg
Yolendia | = Steing energ

7. When does kinetic energy of particles change? When does potential energy of particles change?

wWhe~ DerledeS move Lasler
whe T jacresses 'Durk\3 Phase Changes

I can interpret evidence from a heating curve.

/f?\U se the heating curve below to answer the questions:

I can calculate change in energy in a system.

Gide 13. A cup of coffee (140 g) cools from Z5°C down to comfortable room temperature 20.°C. How much

T =

|
Tor20°C Q=mcAT”

energy does it release to the surroundmgs? Assume the coffee has the same specific heat as water.

140qy VnKnow~ = (140x)(4, 19942y (20°¢- 757¢)
I5%C. Q=7 - ZI?G
26 . g EXO-“\O(‘M)L

(% q.1% 3{14 How many joules of energy are used to heat‘ bz 4 (76% if the mass is 86g?

mé ;:n * n&”_‘k- o =P c AT

? = 3 = .
Mo | ATigee s 418 Tsec. l%?(‘ﬁ%'gp"xq anc/o“fa'wc

15. If the spemﬁc heat of aluminum is 0 9 J/g*°C, what is the energy added to 249 g of aluminum to

(iven increase the temperature from 23 to 42°C? ¢y = QZ 4 q ( 0,9 J / > ( ICk :
even 3 On (n Onkrosn = =] -

T

. 42°C Eho)b“\er».

1,-23& AT= Y2- 23_,qqg-mcm“ —¢/257‘?3 .



